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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.o0 ~ 662 8363 | TnLs | 000 ~ 662 2.85 156.23 FhLst 1.00 | 5.00 ~ 1375 83.53 | #nst | .00 ~ 1575 2.85 16.23
2 100kN/mM%E#BZ 5 — - ~ — —|3mZE#BZB| 000 ~ 0.07| 3.08 16.47 | 100kN/m%#BZ % — - ~ — — | 3m%i#BZ 3| 1000 ~ 14.04| 3.08 16.47
Zhst 1.00 | 0.00 ~ b5.44 67.91 | Ths | 007 ~ 544 | 3.00 16.05 Zhst 1.00 | 5.00 ~ 14.04 67.91 | #hst | 5,00 ~ 1000 3.00 16.05
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 626 78.58 | #npst | 000 ~ 626|295 15.78 zhLst 1.00 | 5.00 ~ 1453 7868 | EnS | 6.00 ~ 1453| 2.95 15.78
p 100kN/mM%E#BZ 5 — - ~ — — |3mZE#BZB| 000 ~ 025|325 17.37 | 100kN/m%#Bz % — - ~ — — |3mEBZB| 1500 ~ 15671 825 17.37
Zhst 1.00 | 0.0o0 ~ 6.31 79.28 | #hst | 025 ~ 631 300 16.05 Zhst 1.00 | 5.00 ~ 1571 79.28 | #nst | 6.00 ~ 1500\ 3.00 16.05
5 100kN/ Mm% Z 5 — - ~ — — |3mZE#BZS| 0.00 ~ 0.01| 3.01 16.09 | 100kN/m%#BZ % — - ~ — — |3mE#BZB| 1500 ~ 1576 | 3.01 16.09
Fhst 1.00 | 0.00 ~ 754 96.51 | =S | 001 ~ 754 3.00 16.05 Zhst 1.00 | 5.00 ~ 1576 96.561 | #nS | 5,00 ~ 1500| 3.00 16.05
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.00 ~ 454 56.63 | TS | 000 ~ 454 2.29 12.28 Zhst 1.00 | 5.00 ~ 7.69 56.63 | =nst | 500 ~ 769|229 12.28
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




